Homework, -\

b4
) GRiph Y=
DN
011 3=
1123 3=%
2 j 3 =9 T
-1135 5'” ‘\g | X,
T = S
= E ;??L \5/ 3%9;0&)\@ (JO*\%
RL)'Q)SBQBQW\)W
N2l

1< (4s

&

bvy;zo(L}gf

expone ahal

3) GRONS /93’/,?@ yea!
Qmpeans + 1,2 = 0,013

exponen hak  decasy

175 > | ( L3S

bec ande
essS dhan | )

Erort becauSe

i Creoder an l)

b) a’e?rw'auhos 25/ =0.25

gﬂowj/% %b(%or = [ +6.01/3 Oleca,y -/écﬁrs |-0.25
=[1.013] Pzzc?,qooo ~lo-?s)
D. | 236000 T=lo p- ;glooo(o.jrs)”

|0
A= 1236,000(1.013)
= | 406, 413,17

7 ' , / ]
= //L/Oé/ /_//5 Fﬁ}j,luo?éﬁol’;(/;fb?()




H> &) +45+/. =045 [b) — 10/, = ~0.19
G;ROW*/'/L bff@vffﬁ /€5 c{eca,g becavse Mpgwh‘c/e

HROWAN %ac#gfy " d»eca)_u/ 7Zac~/or

= ) +0.45 = | -0.10
-——L} ,HGL =10.90
C) -—L)O-/, = 0.40 d) +200°.= 2,00
decaxj becowse Neﬁqﬁvﬁ 9201/\/*-/'/(, becavse -+
a!ecaﬁ 729a67’0f ?*OW“LA'/EQQLW

[— ©.40 z /+2:E



